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Topic:- EDU MPHIL S2

1) A researcher compared the mean IQ scores of randomly selected government and private school students and arrived at
a conclusion that private school curriculum has significant positive effect on the intelligence of students as compared to that
of the government school. This study can be categorized as

T MLl of ARRBD PU A Tfold IRPRI 3R forsll Faer & faenfRi @ iRia gigafder yraiam & geretr & 3R 321 forspd UR ugd o5 sl
DI glgHdr Uz IRDRI Fayel DI gefoll 3 forsil Faer @ UIGIad B dAscdyyl ADPRICHAD YHId USAI 3 3 goliayd o Sir Addr 3

[Question ID = 3493]

1. Experimental. / yrilfSio olter 3t [Option ID = 13966]

2. Ex-post facto / ®riftR (vt dize Bacl) giter 3t [Option ID = 13967]

3. Historical research. / dfereiRR ofter 3 [Option ID = 13968]

4. Ethnography. / gderfesiet olter 3 [Option ID = 13969]

Correct Answer :-

® Ex-post facto / ®RIR (vaRt ke bacl) olter 4 [Option ID = 13967]

2) Aresearch investigation into the transition of young children to formal school within the cultural processes of their
everyday lives, can be suitably conducted as?

3raefl Aswrt @ Shiaer bt ARG gipnsil 3 81 acdl @1, siuaf¥e o 3 siazur Hdeh oter Iuge »u A e faf?r A e s wrwar 37

[Question ID = 3494]

1. Ethnographic research. / gderfersiret sioRierst [Option ID = 13970]
2. Action research. / fagancares ofter [Option ID = 13971]

3. Survey research. / Jdsmr sRienet [Option ID = 13972]

4. Experimental research. / grifSie sigpRieret [Option ID = 13973]

Correct Answer :-
e Ethnographic research. / grdsifdsirer sigpienet [Option ID = 13970]

3) Which of the following is decision making error in hypothesis testing?

forgatferRaa 31 3 Plat A1 ulkascustt uSigur 3 fofr ot Fvased gie 3?7
[Question ID = 3495]

1. Random error. / =mefke® gfe [Option ID = 13974]

2. Sampling error. / yfererret gfe [Option ID = 13975]

3. Type | error. / esu | gfe [Option ID = 13976]

4. Standard error / a6 gfe [Option ID = 13977]

Correct Answer :-
e Type | error. / esu | gfe [Option ID = 13976]

4) Which type of sampling allows each individual in the population an equal chance of being chosen?

SIoRITRIL 3 A YD RS B ol Siiol bl ATt ATl 5T YbR o1 Yferarrer Jar 37
[Question ID = 3496]

1. Purposive Sampling. / 3g9ayut yfererior [Option ID = 13978]

2. Stratified Sampling. / @sffaa gferrier [Option ID = 13979]

3. Cluster Sampling. / 3jce yfereriat [Option ID = 13980]

4. Random Sampling. / =mefese yferarior [Option ID = 13981]

Correct Answer :-
e Random Sampling. / =refewa yferarrer [Option ID = 13981]

5) A researcher formulated a hypothesis that the use of technology in the classroom would not improve the children’s
reading skills. What is the independent variable in this study?

s ofteradl of Uah uf¥dseuct JolRN b e i GielfBrdbl ol SuRIeI acdl & UGl @ DIl 3 LR oISl B3l 3 33 3L I Fade I T 37

[Question ID = 3497]
1. Children’s reading skills. / acdl @ ugot @ wlerct

[Option ID = 13982]
2. Use of technology in the classroom. / @gir 3 GlefSrht w1 Jueier
[Option ID = 13983] www.FirstRanker.com

3. Physical facilities provided in the class. / @eir 3 Suctser BE o1 9iiferd Jfdems
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Correct Answer :-

e Use of technology in the classroom. / @gir 3 gienf3rht a1 IuRilser

[Option ID = 13983]
6) If an unrelated design consisted of different subjects in two conditions, which of the following non-parametric statistical
tests would be appropriate?

afe fep=it sridfra sifdroeu 31 o Raferil 3 fafdioot farorr onfdrer & Al ol A1 YraIel ARRIDRI USIUT IUYD BI°1?
[Question ID = 3498]

. Wilcoxn test. / feria=ter wigmr (Wilcoxn Test) [Option ID = 13986]

. Mann Whitney test. / aima1 féacoft udteor (Mann Whitney Test) [Option ID = 13987]

. Friedmann test. / wmrssdler udlgmur (Friedmann Test) [Option ID = 13988]

. Chi-square test. / @B- ¥aarr wiemwr (Chi-Square Test) [Option ID = 13989]

A W N -

Correct Answer :-

o Mann Whitney test. / o1 féscoft udterr (Mann Whitney Test) [Option ID = 13987]

7) A three year research study to assess the impact of I.C.T. use on Mathematics achievement in a co-educational senior
secondary school is an example of

5~ eI Ioaar arefds femert 3 s1fdTa &t Sucfer uz gAML & IuRNBT B YIId DI 3MIbelol Dol D 10 il ATeT BT 9NeI IERIGT UD
3CIBI 3:

[Question ID = 3499]

1. Quasi-experimental research design. / udlemr 3ega sigpierer difdrasea &1 [Option ID = 13990]

2. Experimental research design. / yrifSi® siopRiere sifdrocu @1 [Option ID = 13991]

3. Correlational research design. / Jg2idelt soRieror sifdicu @1 [Option ID = 13992]

4. Longitudinal research design. / smgSet siopRienret sifdrasey @1 [Option ID = 13993]

Correct Answer :-
e |ongitudinal research design. / smIdet sropRitrel sifsicbeu @1 [Option ID = 13993]

8) Which of the following is not a measure of variability?

forraferRaa d A dler-ar ulkaderofierar @1 s o1dY 3?7
[Question ID = 3500]

1. Standard deviation / @i faacter [Option ID = 13994]

2. Range / ufsr [Option ID = 13995]

3. Quartile deviation / agerfe fiaetor [Option ID = 13996]
4. Median / anféarast [Option ID = 13997]

Correct Answer :-
® Median / suféerast [Option ID = 13997]

9) The study of a number of individual cases leading to a hypothesis and eventually to a generalization is called:

gradcuett <l 3R ¢ Siiol dIell RIftbord D3l bl AR DI 31RAG SiI 3ieled: APAIIDUT bl 3M1= o Sl 3, DEcIIl & -

[Question ID = 3501]

1. Inductive reasoning / sme@ioicad dwon [Option ID = 13998]

2. Deductive reasoning / formieicad amen [Option ID = 13999]

3. Inductive-deductive reasoning / siewielcD- foeeeca® dman [Option ID = 14000]
4. Systematic reasoning / @giag daaon [Option ID = 14001]

Correct Answer :-
e [nductive reasoning / smewiel® ddasen [Option ID = 13998]

10) Which among the following statements is not true for Research?

forsaiferRaa & A Blor-AT BereT 9Ner B fawRr 3 A o1l 3 ?

[Question ID = 3502]

1. Research is a systematic, controlled, empirical and critical investigation of hypothetical propositions. / ol graecusues gzemuenail bt wraf¥erd, orifed,
Sigetasioa 3l fomifer Sifa & [Option ID = 14002]

2. Results of a research investigation are open to public scrutiny by fellow professionals. / ofter sifa & ufsvmt el gferpt grI Adsifors Adien & fore Tadq &
[Option ID = 14003]

3. Research mvestlgatlons are based on personal opmlons / oMt Sifa <Ifeperd RI W 3menf¥d aldt & [Option ID = 14004]

3 3 i a : donifores A1l 2 [Option ID = 14005]

Correct Answer :- www.FirstRanker.com
® Research investigations are based on personal opinions. / ol Sifa cifeperd IwI U= smenf¥d axdt 8 [Option ID = 14004]



» i cm finjti propositions that presents a systematic view of phenomenon by
:I 41ﬂft§fﬁa é 'Elﬁs'ﬁose of explaining and predicting the phenomenon is known as
sitag g:iig'ﬂﬁi%ﬁiﬂﬁmmﬂ Y W G5 LR BRI I grarfe o NG B SLRARKR o8 0¥k o
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[Question ID = 3503]
Definition / ufsmur [Option ID = 14006]
Law / formr [Option ID = 14007]

Research Outcome / olter yferwet [Option ID = 14008]
. Theory / f1gia [Option ID = 14009]

A W N -

Correct Answer :-

e Theory / Bigia [Option ID = 14009]

12) A qualitative research design that reflects a shift from the perspective that the researcher knows best to one in which
the researcher is part of a team that collectively can accomplish much more when each person is a full participant instead

of either an object of study or a researcher is:

SUIeHD ofter sifirpeu Sit s uf¥gga @1 golldl 3a1 3 b AARd® +u A BRI B! aIcl ool D 30T D WU 3 ofermal Bf eI srden oerdaf 3t

Adlda ST 3, daclidl 3

[Question ID = 3504]

Feminist Research / aidlarct oiter (Feminist Research) [Option ID = 14010]

Critical Action Research / Jmfisicare figanearm olter (Critical Action Research) [Option ID = 14011]

. Participatory Research / Jesnfdramzas oter (Participatory Research) [Option ID = 14012]
Post Positivist Research / 3tz gyragmarct ofter (Post Positivist Research) [Option ID = 14013]

A w N =

Correct Answer :-
e Participatory Research / Jesnfdramzas oier (Participatory Research) [Option ID = 14012]

13) Which among the following statements is true?

forgoifeiRaa & A dler-AT BereT AT 3?7

[Question ID = 3505]
1. Alternate hypothesis is accepted when null hypothesis is rejected. / s 9[c¥ yradcuen @ RAPR b Sirr & dd dofeud Yradeyst ol IdiaR fipar St 8

[Option ID = 14014]
2. Alternate hypothesis is complementary to null hypothesis. / d@feud gradeus 9ot Yradbeua &t g aldt 8 [Option ID = 14015]
3. Alternate hypothesis is independent of null hypothesis / d@feus yraweusn 9few gradedol A ¥add, aidt & [Option ID = 14016]
4. Alternate hypothesis is not a research hypothesis / dofeus gradeust v 9iter yraaedn oidt 3 [Option ID = 14017]

Correct Answer :-
e Alternate hypothesis is accepted when null hypothesis is rejected. / S gfo=I Yraweuet @l SRAIDR b1 Siir & dq dpfeud Yrameuel ®I PR b Siar 8

[Option ID = 14014]

14) A researcher, who is doing a survey on primary grade students, having intelligence quotient (IQ) as a variable with a

potential range from 70 -150, shall use:

grafde oei @ fenfiRi uz 9ner w2ol arcll o 9ierddi @I, Sii 70-150 et ufer arel @R @ diz UR gfgaafor I A $IUT Bell arsdl 3,
gRiter & citelt anfdg
[Questlon ID = 3506]
Small sample. / eg yfereof [Option ID = 14018]
. Large sample. / g&a yfergef [Option ID = 14019]

. Convenient sample. / Jfdersiord yfergef [Option ID = 14020]
. Whole population. / guf Sierizzn [Option ID = 14021]

AWN—\

Correct Answer :-
e Large sample. / gaa yfersel [Option ID = 14019]

15) The standard deviation of the theoretical distribution of sample means is

gfcrget amezil @ IAgifere dcol @1 Aol forerctor 3

[Question ID = 3507]

1. A measure of sampling error. / yferrret gfe @1 s [Option ID = 14022]

2. A measure of dispersion in the data. / grmeEf 3 ufsémur o1 sma [Option ID = 14023]

3. A measure of deviation of scores from the mean. / e 3 yricl @ feracter @1 s [Option ID = 14024]
4. A measure of deviation in the standard scores. / #ifoi yrarpi 3t feraetar @1 ama [Option ID = 14025]

Correct Answer :-
® A measure of sampling error. / yfercriet gfe @1 s [Option ID = 14022]

T6) Mr. Anil, a researcher and English teacher wishes to see how well his students could spell 1,000 English words but

decided to have a sample of only 50 words for Wlﬁ?gg:maﬂkeﬁn&mt ensure:

s ofteraat 3iiR 3iv)shl @ fArerd off siforer A Som arad 3 o5 3ot freneff febail srcefl aws sid)sh & 1000 9rect 6 acdoll aar ura 3 fog as



enfvia*iﬂi”afﬂkﬁtjtwhdi@em gl &bl sfadq derar [Opti_on ID = 14026] )
. Internal validity of the procedure. / yieen &1 siiafye de\[Qy Wl ESERANKEr.com www.FirstRanker.com
3. External validity of the results. / ufsvmit &t arar derer [Option ID = 14028]

4. Criterion-related validity of the sample. / yftrgef &t amorcs el derem [Option ID = 14029]

:I :ﬁfﬁﬁ%ﬁﬂ“&gﬁﬁéﬁfﬁ?ﬁmm R G et e oo iy

Correct Answer :-
e Content validity of the test items. / utgmwr yssil <t siadsq derar [Option ID = 14026]

17) ‘Threats to reliability’ in an achievement test with respect to examiners and marking can be attributed to:
A. Errors in marking.

B. Inconsistency in response of the students.

C. Inconsistency in marking within the same response sheet.

D. Inconsistency in marking among different examiners.

Which among the following is true?

uSigral 3l sidol @ Aeer A ustgrug B ‘RirazroliRidar & )’ ®I IAGR 68IRN SII ADAI 3
3ivol 3 qfedl ot

frenfRRl @ sz 3 s ot

U & IaR-ugw A 3ol b faierfer wf

fafdreot udigrast @ siavor 3 fAadsifer @1

forgetfeiRaa 3 A dlol-A1 AT 3 ?

Sow=>

[Question ID = 3509]
1. Aand Bonly / A 3z B

[Option ID = 14030]
2. A,BandConly /A, Baiz C

[Option ID = 14031]
3. AJBandDonly / A, Bsir D

[Option ID = 14032]
4. A,CandDonly / A, C3ic D

[Option ID = 14033]
Correct Answer :-
e A,CandDonly / A, C3iizD
[Option ID = 14033]

18) Which of the following statements are examples of inferential statistics?
A. The average height of the girls in basketball team of a school is 165cm.
B. There is a relationship between high motivation and high achievement level.

C. From the past analysis, it is predicted that 85% of science students from high schools will go for engineering courses.
forraiferRaa 3 A ®let A1/A Dberet siigpIfore ARKADT B1/d Ic120T 3/37

A. ue Fae dI ardedic & 3 asial o siikia asars 165 A3 3
B. Sca Yrunm 3iik Sca Sucifeer ¥ar @ dia ua dHder 3
C. R freayvl A A6 3epre oRIRI b Ica Renerll @ fsier @ 85% faenell sshiforafier ol @ fere st

[Question ID = 3510]
1. Aand C only / Az C

[Option ID = 14034]
2. AandBonly / Az B

[Option ID = 14035]
3. BandConly / Bz C

[Option ID = 14036]
4. Bonly / @ac B

[Option ID = 14037]

Correct Answer :-

¢ BandConly /Bl C www.FirstRanker.com
[Option ID = 14036]



D :Ew‘gxkﬁaﬁﬁéhfesfﬁiﬁalence between the control group and the experiment group is
ashied -

A Firstranker's choice
o Arefd YRIBID sfofell Alsion 3, SrRiqul Jge MW&E%B@%%Q% ﬁmﬁgwww.FlrstRanker.com
[Question ID = 3511]
Comparing mean scores. / #e @ il bt getoll w2 [Option ID = 14038]
Comparing standard deviations. / #ieid ferctol @ #eil &l getot w2 [Option ID = 14039]
Randomization. / =mefR@dbiaszur [Option ID = 14040]
One to one matching. / ww 3 v dieT w2 [Option ID = 14041]

A W N -

Correct Answer :-
® Randomization. / wsreRedbimur [Option ID = 14040]

20) Researchers use null hypothesis because

9NErpdl 9IoRI YIadcUoll DI IURIIST Bl & qifd

[Question ID = 3512]

1. It enables to compare research findings with chance expectations through statistical tests. / s JiRcrbRr ulewil & Fre=mr 3 IRMBI Ut BT 3rofRieTs!
forseput @ eI getoll d2ol 3t AT Jorredt & [Option 1D = 14042]

2. It allows making inferences using confidence limits. / 8 faeaadar &t AMfaait a1 3uRler wIdd foreapt forapictor @t sraziz Sar & [Option ID = 14043]

3. It reduces the risk of statistical errors by choosing appropriate statistics. / s @reifia JifR=rbRI fafér a1 awrer w2 gfell @ SitRaer @t wa war 3 [Option ID =
14044]

4. It allows correct use of statistical tools. / a8 JAR=DRI Iumvll & AWRIA 3wk DI sl Sar & [Option ID = 14045]

Correct Answer :-

e |t enables to compare research findings with chance expectations through statistical tests. / e JiRcIblr wlemil @ et 3 AT forsepul @I ool
forsepuf @ JArer getoll 2ol 3 g1 dolicdl & [Option ID = 14042]

21) You want to study the experiences of ‘being a transgender’. Which of the following may NOT be an appropriate way to

identify your participants?

MU ‘TiA SIS’ BloY @ 3oterdl oI 31¢RIeT DI AL 3 3ol YfersnBrRIl @ sifdrforerfzor o1 forsaiferRaa 3f A dlor-A1 adlet U o1l 3 Adar 3
?

[Question ID = 3513]

1. Snowball sampling. / Jeidict yferarier [Option ID = 14046]

2. Purposive sampling. / g9 yfercrior [Option ID = 14047]

3. Random sampling. / =efea® yferrier [Option ID = 14048]

4. ldentification through institutional consultation. / Jizenfors umief gt aifdrsirer [Option ID = 14049]

Correct Answer :-
o Random sampling. / arefess yferarror [Option ID = 14048]

22) Aresearcher wants to undertake a research with young adults to understand how their identity has developed from
their childhood to adulthood and which factors have influenced it. The appropriate method for this study would be

U INErpdl A AHsIol B 1T JAI-arIF] DI cIp= e Dol A1l & [ IoTehl ARHAAT DI [APRI IoTd FeqUol A b2 RIRDP Blol D [BA YdR
genfad g3 3 31z 3 fpel BR®I of Yaifad foven & 331 ¢RIl & fore Suyges faf?r et -

[Question ID = 3514]

. Action Research / famearas ofer [Option ID = 14050]

. Survey / xdsmr [Option ID = 14051]

. Life-stories / Sftaer-asemd [Option ID = 14052]

. Observations / ggmr [Option ID = 14053]

A W N -

Correct Answer :-
e |ife-stories / Sflaer-wemd [Option ID = 14052]

23) Which of the following can be used by the researcher to rank the people or objects on a scale with equal units?

A6l SISl dIcil AUl Uz AP 3redr a¥daii & agifererizur @ fere oNermdl R forotfeiRad 3 A fparm! Suriier fdven s JAdmdar 87
[Question ID = 3515]

1. Nominal Scale / oufdia smuoft @1 [Option ID = 14054]

2. Ordinal scale / @#ad #Ameit @1 [Option ID = 14055]

3. Interval scale / siazret amusht @1 [Option ID = 14056]

4. Number scale / sicbrr amusft @1 [Option ID = 14057]

Correct Answer :-
e |Interval scale / siRret smueil @1 [Option ID = 14056]

o2t enerepal gotar b1 o ereer - | gfe e amll sl 2, otiowFirstRanker.com
[Question ID = 3516]



“eal (¢ null hesi: ich is actually true. / olierpdf gJo=I Yradeuoll ol IdDPR dl 3, Sit fop araa # A1 & [Option ID = 14058]
.;an Egttgé?ﬁkséﬁ iﬁé{hue. / olterepal 9=l Yrarebeyoll ol 3RdIPR ddl 8, Sil fop araa 3t 3w & [Option ID = 14059]
l 2ageher ﬁg Fyrli ﬁﬁo@he is, which is actually false. / olierpat 9fo=I yrameustt @l IdipR @ 8, Sl b araa i sri & [Option ID = 14060]
. A reseaEHEﬁifg ﬁ] t [ rJoé‘a ernative hypoWw/ %%WWW Gloll dl 3W?r{§mwaﬁké?06b m

Correct Answer :-
® A researcher rejects the null hypothesis, which is actually true. / olierpatf 9jo=1 yradcuott @l RAIDR ®x 3, Sit b araa & A1 & [Option ID = 14059]

25) A point on the measurement scale below which a specified percentage of the cases in a distribution fall is called..........

g & Jarol ot as feig Rrad ofiy vl sndcar 3 B2l o1 I fafdree gferora sirr 3, 3A s 3

[Question ID = 3517]
1. Percentile rank / orais dife

[Option ID = 14062]
2. Percentile / oria@im

[Option ID = 14063]
3. Percentage / yferora

[Option ID = 14064]
4. t-Value / t -amot

[Option ID = 14065]
Correct Answer :-
® Percentile / o

[Option ID = 14063]

26) Which one of the following statements is incorrect?

forgotfeilRad af A wlel AT Berol sIcid 37

[Question ID = 3518]
1. Phenomenology as an approach concern primarily with how ‘others’ view my world. / uf¥aceiarg v dar eftedlur 3 Sl FRRA FU A $A dId A ARADR 1Al 3 b
‘G cler’ 358t gforn Y fabat g Jwr &

[Option ID = 14066]
2. Existentialism often describes the human condition in terms such as abandonment, loneliness, despair and alienation. / si¥dcaars s uf¥mer,
S[deIuet, forRIeN 3iiX 3o AWM 51 orscl 3 ATeIdRT Sraerr Wl qulel BT &

[Option ID = 14067]
3. Humanistic psychology is also referred to as ‘third-force’ of psychology. / sieradrarct ssitfdsier @ Asifdsier &t ‘dRrl-ofcs’ & Fu f #ft Sten siar &

[Option ID = 14068]
4. The feelings, perceptions and awareness that an individual has at any given moment is known as phenomenal field in humanistic psychology. / fa2ft
oft offer JoRI P =Ifep St oaene, YrIeivr 3R SIeRsadl AT 8, 3 HleIAIdIS! AalfdsIlol 3 fcall-fisirel Jdeft §iq @ U I Sl S &

[Option ID = 14069]
Correct Answer :-

e Phenomenology as an approach concern primarily with how ‘others’ view my world. / ufsaceidrg ve b1 fteivr & Sit FRRT U A A A A IRAPR I3[ & b
‘G cler’ A gform @ b Yoo Sz &

[Option ID = 14066]

27) Piaget distinguished among three types of knowledge except

@ sifeif¥ @IrEt of ardbt dicll gor & siel @ dia 3 sidz Fuse fen

[Question ID = 3519]
1. Physical Knowledge. / siifera siror

[Option ID = 14070]
2. Logico- Mathematical Knowledge. / aifése siforeftr siror

[Option ID = 14071]
3. Procedural Knowledge. / yfépicad sirot

[Option ID = 14072]
4. Social Knowledge. / JmufSi sirer

[Option ID = 14073]

Carrect Answer :-
e Procedural Knowledge. / yfégicsds siror

[Option ID = 14072] www.FirstRanker.com
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A Firstranker's choice _ .
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[Question ID = 3520]
. Evaluation / gc=iiasat [Option ID = 14074]
Cognition / 3i=ier [Option ID = 14075]
Synthesis / J*aswur [Option ID = 14076]
Memory / Jgfer [Option ID = 14077]

A W N -

Correct Answer :-
e Synthesis / 3=a3wur [Option ID = 14076]

29) Socrates wrote

A. Nichomachean Ethics
B. Symposium

C. Apology

D. I and Thou

Choose the correct answer from the options given below:

JDAA of ferar

A. fororanfrmer eférazt (Nichomachean Ethics)
B. Rmmdifsrer (Symposium)

C. smuersit (Apology)

D. s ¢s g (I and Thou)

8l BIS DI TRIT BI:

[Question ID = 3521]
1. AandBonly / A3z B

[Option ID = 14078]
2. BandConly / Bsiz C

[Option ID = 14079]
3. AandConly / Asiz C

[Option ID = 14080]
4. CandDonly / Csiiz D

[Option ID = 14081]
Correct Answer :-
e BandConly /B3 C
[Option ID = 14079]

30) In the work of Talcott Parsons, and serve the primary functions in the society as an agency of
socialization and allocation of human resources within the role-structure of the adult society.

fop=it Jraarst 3 AASHDRUT 3R RRD HATST DI YRIDI-ITe D Hiar HAlela FATEG D 3MTdcel D DT D dik Uz Todic URIA D cRasl D
olAR 3z IR YbrI Dl &

>

[Question ID = 3522]
1. Lower and middle socio-economic class / foer 3z sreemer Jmwnfora- suféfa asf

[Option ID = 14082]
2. Elementary and secondary school class / greifdre siiz ameafirs et 6t den

[Option ID = 14083]
3. Middle and upper socioeconomic class / e sfiz 3ca Aenfsim- snféfa asf

[Option ID = 14084]
4. Middle and senior secondary school class / @itz 3z af¥ts aefda Iaet 6t wen

[Option ID = 14085]
Correct Answer :-
e Elementary and secondary school class / greiféia iz ae1fdied aet bt dein

[Option ID = 14083]

31) According to L Althusser, besides techniques and knowledges, children also learn the ‘rules’ of good behaviour which
actually means www.FirstRanker.com

Tl SICIYRR D RIR, ddolld 3R Sl B 3IICdl, dcd 3D RIasR @ 'forpEr’ 3ft M 3, RrIe! araa # JAdad dilar 3



i —
.1 (?Feirgta aM&ngcﬂma and ultimately the rules of order established by educational systems. / 3=s sifers

l 5, W?fﬁﬁ?é?aﬁ‘ﬁ@ﬁﬂ?ﬁ Jenfia wrazerae forer [Option ID = 14086]
- Rules of respect for the socio-regional division of laboupppd\witFRpret Ram ke @ mstablished by pgymapiorR| pstdRaN ket e pr [emsio
@ fore el A JS forwI 3R sida: Sifére dqi grI Fenfid =razerue formr [Option ID = 14087]
3. Rules of respect for the socio-technical division of labour and ultimately the rules of order established by class domination. / 3wt -Adollhbt gt fasisior
@ fere Jmwarrel A J3 forwt i sida: asf adsa grI Fenfid =azenu® forpr [Option ID = 14088]
4. Rules of respect for the good moral behaviour, collective conduct and ultimately the rules of order established by class domination. / src& diferd
RIABR Al AP[ED 3IRYL A FfS ORI 3iie 3ide: dof adzd gRI Fenfud caazeruze orer [Option ID = 14089]

Correct Answer :-
® Rules of respect for the socio-technical division of labour and ultimately the rules of order established by class domination. / Jwist -aweiidbl gt fdsirsior
@ fere et A J3 forwI i siaq: asf adsa grI Fenfid =azenu® forpr [Option ID = 14088]

32) The view which contends that ‘our “truths” are temporary statements based on how we cope with changing
circumstances’ is known as:

‘BIR “Aca” IRURI BT 3 Sl $A dId UR 3mrenfed 3 b 1 acardl ufeR-eferil o1 ArmEn 61 yoR o= 3, U6 eftcdIvl dacis:

[Question ID = 3524]
1. Cultural relativism / Jfizgpfere misarg

[Option ID = 14090]
2. Relationalism / 3@gotmag

[Option ID = 14091]
3. Empiricism / sojsraarg

[Option ID = 14092]
4. Perennialism / zenRrcaare

[Option ID = 14093]

Correct Answer :-

e Cultural relativism / Jizpfei AmigaG
[Option ID = 14090]

33) Basil Bernstein provided a suggestive analysis of how the social frameworks of school knowledge generate

IR31e1 Joixdiol of v ADIIP fa2e3uvI yarel fopn o Faxell Strol @ ARSI @i @I b YR Jolld 3

[Question ID = 3525]
1. Subject identities, teacher loyalties and orientations to teacher knowledge / ferrr &t siR91ams, freres i foreats 3iiz gt Sirer @ yfer Ioapcdiapur

[Option ID = 14094]
2. Subject identities, knowledge loyalties and orientations to subject knowledge. / ferRr 3iR#ars, siror foreor 3iie farerr siror @ yfer sifdifdo=ma

[Option ID = 14095]
3. Student and teacher identities, subject loyalties and orientations to school knowledge. / &g 3IR {S1g1 IRaAS, TR oo sl Imel Silol @ fere arffieRIet

[Option ID = 14096]
4. Subject identities, orientations to subjects and loyalties to school knowledge. / forwer sif¥arars, fawRll @& yfer SoapReficpaur sl Iacft sirer @ yfer foreors

[Option ID = 14097]

Correct Answer :-
e Student and teacher identities, subject loyalties and orientations to school knowledge. / &1q 3iiz fS1erp ai¥arars, fawrRr forord siie Iael sirel @ fere siffiieRmen

[Option ID = 14096]
34) is more interested in the effect of membership of group on the individuals which make it up while
is more interested in the organization and functioning of the whole group.

AIPp DI AGRAAT DI I Follol dIcT RATPAI U USol dicl YHIA 3 3112 BRI 3adl & Siaid g3 HAYg D AdI6el
3ii? yorifcamar 3 siftrw wfr car 3|

[Question ID = 3526]
1. Social psychology and sociology / JmenfSics Froifasie! 3 AN

[Option ID = 14098]
2. Philosophy and sociology. / gofol 3z Jrsomg

[Option ID = 14099]
3. Sociology and psychology. / Jarsion 3z #Hoilfdsiror

[Option ID = 14100] _
4. Psychology and sociology. / sreilfirsirer 3iy JISION www.FirstRanker.com

[Option ID = 14101]
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35) According to Rogers, a mismatch between the real and ideal self

ISRt D SRR, ar«dfde 3R el ¥a @ & sRidcs

[Question ID = 3527]

. Typically motivates individuals to close the gap. / 3miIdlz uz afepRil B $;A Sid2 PBI AMH Bl D ferw Y wzar 3 [Option ID = 14102]

. Can result in anxiety and neurotic behavior. / gf2iar 3iiz dfejmrandt ®rasrR @1 wrur gotdar 3 [Option ID = 14103]

Causes one to better understand their unconscious motives. / elisll @I 3old 3IIdal 389:01 DI &R @9l A Aol DI PRUI dolell 3 [Option ID = 14104]
. Causes an increase in unconditional positive regard. / feelr o JpRIc® id 3 gfg @1 BrRuI dotar & [Option ID = 14105]

AW N =

Correct Answer :-
e (Can result in anxiety and neurotic behavior. / gfiar siiz dfeferandt wrasr @1 wrRuI dotar & [Option ID = 14103]

36) Read the two statements:

Statement I: Reflective teaching is a move beyond the ordinary to a higher level of awareness of how teaching and learning
take place.

Statement |I: Reflective teaching demands that teacher and students be involved in a process of self-observation and self-
evaluation.

feu s1u werell @) ue
werat |: forerur sif2era B3 o afdn, 33 ard &bl SIPReDAl DI ARG A I FAR AP o Siiol BT YA faereft forgror 3
ool |1: fepreft forgrur Fisr wear 3 fop fAre1a 3R 81 sirca-fordlerv 3R 3ircA-Feuicbot bt yfepen 3 onfirer 8t

[Question ID = 3528]
1. Statement | is true but Statement Il is false / @werwer | 1 2, cifdpor @werot | 3T 3

[Option ID = 14106]
2. Statement | is false but Statement Il is true / @erer | sricr 8, Aifdboer werot 1 3T 3

[Option ID = 14107]
3. Both Statement | and Statement Il are true and Statement Il is correct explanation of Statement | / @erwer | aiiz @werer | Sloil 21 & 3l @erer || weret | bt
Al wme 8

[Option ID = 14108]
4. Both Statement | and Statement Il are true but Statement Il is not the correct explanation of Statement | / et | 3iiz weret || Slell 3 &, cifdpar derer |1
@werel | 6t I8 R ofdl 8

[Option ID = 14109]

Correct Answer :-
e Both Statement | and Statement Il are true but Statement Il is not the correct explanation of Statement | / @emwr | 3liz et | 6l A1 8, cifdpor et |
Dol | Dl A8 RIRRI ol 8

[Option ID = 14109]

37) The radical separation of fact from value is difficult to maintain, especially since facts relate to the:

HcA A AT D Il YATDII DI TolI¢ 3xToll el 3, fANUD? ad, S dea

[Question ID = 3529]

1. True statements about the world and those statements never change. / SpIa @& aR 3 A& Bl 3 Mg 3l 3l d Beret Boft of gaei [Option ID = 14110]

2. Descriptions we give of the world and those descriptions never change. / g#R gRI SBPId @ fenrr 9t & s fraeull 3y g &l 3l d faur wsft of agel [Option

ID = 14111]

3. Descriptions we give of the world and those descriptions incorporate evaluations. / 8aR gRI SBId @ fawer 3 f&u s fauil A Jdg 8i 3 3ot vl 3
ot onfdret &t [Option ID = 14112]

4. Descriptions we give of the world and those descriptions are free from evaluations. / gaR grRI SPIA @ fawrr 9t 3T s f@eull 3 Iwag 8f sz d faur
Fciapoil 3 #eb af [Option ID = 14113]

Correct Answer :-
e Descriptions we give of the world and those descriptions incorporate evaluations. / AR gRI S @ fawer 3f f3u s fauil 3 g 2 3l 3o faavil 3
Fcicpot onfdret & [Option ID = 14112]

38) The term used to describe suspending preconceptions and learned feelings about a phenomenon is:

fop2it arcon @ AR A st gdenzomnsil siiz sifera siraetsil a1 auiet w1 & fére yes ug 3
[Question ID = 3530]
1. Axial coding / sisfiar @ifSsr [Option ID = 14114]

2. Flexible designing / crclierr f3smser [Option ID = 14115] WWW.FIrStRan ker.com
3. Bracketing / ®rssat [Option ID = 14116]

4. Debriefing / 3aen yifit [Option ID = 14117]




= ;- EirstRanker.com

B P tran e r s o - s e

39) With operant conditioning, are iWBQ’r‘(‘éhﬁstBﬁ:ﬂPﬁ%rangmtion, wherXXMhFcilggigﬁ&lé%Ef&\Q@

are important in forming an association.

oy sregdereT 3, AFdoe dollol @ fere Ascayul &, adl acnf3rdl sroderot 3,
A¥FeIoel Jollol @ fere Fscayyf 3|

[Question ID = 3531]

1. Consequences; antecedent stimuli. / ufdvm; gdad 3gtusm

[Option ID = 14118]
2. Reflexes; rewards. / yferad; geeor
[Option ID = 14119]
3. Conditioned stimuli; reflexive stimuli. / sejmfera 3gium; yiemadt 3gus

[Option ID = 14120]
4. Positive reinforcement; negative reinforcement. / 3rodferd Yoldclol; ofpRICHD Yoleiclol

[Option ID = 14121]

Correct Answer :-
e Consequences; antecedent stimuli. / ufvmr; gdadi sglus

[Option ID = 14118]
40) Amit’s mother was upset to find that Amit had not picked up his building blocks after repeated requests to do so. The
next morning, Amit found all his blocks had been picked up and put into a bag on the top of the refrigerator. Amit’s mother
told him that he could not play with his blocks for the next two days. Which type of discipline did she use?

3if3rer bl aif 31 a1 A wonel ofl b GR-aR sreRler w0l D I 9 S1fdd of sruel fAfeSsT seifa=t @I ofdl 3oRN 3PEIcll Jds, 3 of urn b D
39l ocifopl I 30T ferRI SR o 31k 3Misie: @ Huz Ua Jo1 3 ST & sR e 313 bt i of 368 aarn b a8 3Era oI {36l awm 3ruol scifml A
o1&l el ADd & Iodlol A YR B 3I619IRTel DI IURIIST b ?

[Question ID = 3532]

1. Negative reinforcement / sipRIc® Yerderal [Option ID = 14122]

2. Punishment by application / faférier grI gs [Option ID = 14123]

3. Punishment by removal / fomitrer grI gs [Option ID = 14124]

4. Positive reinforcement / J@RIcH® Yordetor [Option ID = 14125]

Correct Answer :-
e Punishment by removal / foerer grt ¢s [Option ID = 14124]

41) The awakening of sexual curiosity and interest in the genitals is the beginning of what Freud termed as

iol ISR 3i1R Stotetiell 3 BRI Bl 9Fsd GRIS gRI yferarfda 3 9 aIeil 3|

[Question ID = 3533]
1. Oral stage / #ifdad smazen

[Option ID = 14126]
2. Anal stage / 3ot srazen

[Option ID = 14127]
3. Phalic stage / cifSr® s@zen

[Option ID = 14128]
4. Latency stage / Jud 3maen

[Option ID = 14129]
Correct Answer :-
e Phalic stage / cifdra srazern
[Option ID = 14128]

42) The memories and fears of ancient themes that are repeated in many folklores are quite universal across cultures, and
are known as

¢ clioaensil 3 SIgT Sl ardl Yredlol faerr Adelt FgferT iz srr fafdiost Jivapfieril 3 Ardiifdrm T ez 506 _____ @ U 3 Sifoll S 3|

[Question ID = 3534]

1. Persona. / uxifen .
www.FirstRanker.com

[Option ID = 14130]
2. Archetypes. / suca yu (3mdiesy)
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[Option ID = 14133]

Correct Answer :-
® Archetypes. / 3Ga YU (3Idicsy)
[Option ID = 14131]
43) Ravi is 9 years old, and secretly takes money regularly from his mother’s purse to buy ice cream for himself and his
friends, and does not see this as a morally wrong action. This is an example of

3fer 9 ad @1 3 3iiz 31Ul den sruol Rigl & fere ssaaia Wdicel @ feru sruefl Aif & u=d A forifa wu A guam UR1 forera car 3 3k 33 oifr®
U A 31cId ofdl AlGIAl AT ISTEI &

[Question ID = 3535]

. Pre-conventional morality. / gd-uw3wmIa diferaar ot [Option ID = 14134]

. Conventional morality. / wwpH diferdar @t [Option ID = 14135]

. Post-conventional morality. / 3tR-uuzmeId siferasar a1 [Option ID = 14136]

. Moral dilemma. / sifer® gferen @1 [Option ID = 14137]

A w N =

Correct Answer :-
® Pre-conventional morality. / gd-u3ueIa sifefar a1 [Option ID = 14134]

44) In Maslow’s theory, how often do people reach a point of self-actualization?

el D Biglod @ SR, fopil cafp &t sieaf3ify @ fog aom ugael &I fepdofl Jimraony 37

[Question ID = 3536]

1. Most people reach a state of self-actualization before they reach adulthood. / siférpior @Ifep qeRrd dd ugdol A Usel ARILG 6t srazen ad ugad 3
[Option ID = 14138]

2. Most people reach a state of self-actualization as they finish adolescence. / siférsior <ifep fepollRiazen @ Wi 2l &t sneafify Pt srazer do ugad & [Option
ID = 14139]

3. Seldom, there are times in a person’s life when they are self actualized at least temporarily. / @sft- @sft, ifep @ Sfiaet 3 B3 Aot 31 & S d DA A DA
sRerrRft Al w snelig 8t sy & [Option ID = 14140]

4. No one ever reaches the ultimate state. Our motivations express themselves in how we try to attain it. / @IS sfl il et srazer Aw ol ugaar saR
aifdrgRur s forerff¥a ot 8 fop &t 3Ah! giftt B PRt DA =l & [Option ID = 14141]

Correct Answer :-
e Seldom, there are times in a person’s life when they are self actualized at least temporarily. / ®sfi- @wsft, cafes @ Sfider 3 B3 @RI 3 &SI A ot A Do
SRRl dll w sl al Sin & [Option ID = 14140]

45) Performance model of Curriculum focuses on

marked subject boundaries

traditional forms of knowledge

treating all the students as equals
established rules and pedagogical practices

So=>

Choose the correct answer from the options given below:
aIgRIRIt I forourget diise fordot 3 A fbe1-fibol U= &161 Dfoga mar 37
fererr <61 forfRra 2fiarmsii u=

Sl D URURIPIA WUl U2

8t frenf3Ril @1 TG BRI UR

Fenfira forml iR fOrgmomrdir dferil uz

So=>

[Question ID = 3537]
1. A,BandConly / A, Baen C

[Option ID = 14142]
2. A,BandDonly / A, Baer D

[Option ID = 14143]
3. B,CandDonly / B, C @em D

[Option ID = 14144]
4. Donly / dae D

[Option ID = 14145]
Correct Answer :-

e A/BandDonly / A, Baer D
[Option ID = 14143] www.FirstRanker.com
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B. Culture
C. Relevance
D. Excellence
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Choose the correct answer from the options given below:

ferenerit 18 &1 ISl urgarit o uzr (2000) @ 3eRIR UIGRIRIT @I fdbel sl uR &1 glomr anfdu?
ATFAAT UR

il ur

Jorfer ©r

Jeapsedl U

SCo=>

[Question ID = 3538]
1. Donly / @ae D

[Option ID = 14146]

2. B and D only / d@act B den D
[Option ID = 14147]

3. A, Band Conly / @ac A, B aer C

[Option ID = 14148]
4. A, Cand D only / @aa A, C aen D

[Option ID = 14149]

Correct Answer :-
e A CandDonly / @ae A, C aenr D
[Option ID = 14149]

47) Which of the following is not considered gender stereotyping?

forgotferRaea 3 A b Sise wigagdar o1dl #ronr siran?

[Question ID = 3539]

1. A television program in which doctors are males and nurses are females. / gzcofer dria fSRE! Side? gau 8 &l Rt aifdems [Option ID = 14150]

2. An advertisement where the woman handles office work, home and kids. / %1 fdsiue! 51 #ifden PrIfcRI BT P, dcdl 3k @ @ st & [Option ID =
14151]

3. Achildren’s book where the mother does household chores. / gcdi &t geas BrEl anar a2 @1 e Bxdt & [Option ID = 14152]

4. A movie in which the hero always saves the heroine from danger. / qcifer, SR oIRID adton GlRDT B A A dardr & [Option ID = 14153]

Correct Answer :-

e An advertisement where the woman handles office work, home and kids. / %1 fdsiuet 5w #ifdel PrIcRI BT P, d<dl 3R @R @l xadt & [Option ID =
14151]

48) Hypothetical-deductive reasoning develops in

JITB UG- BR6Icad difiSamdr o famrr 3 arar 3|

[Question ID = 3540]
1. Sensory motor stage / Jddl R 3@zen

[Option ID = 14154]
2. Concrete operational stage / acf JifepRrazen

[Option ID = 14155]
3. Pre-operational stage / gd 3ifegRmazen

[Option ID = 14156]
4. Formal operational stage / siuanf¥e ifdpeazen

[Option ID = 14157]

Correct Answer :-

® Formal operational stage / siuaifye ifeppmasen
[Option ID = 14157]

49) Which of the following branches of philosophy would engage with the question- ‘On what do we base our knowledge of
the world and our understanding of truth’?

zsiadﬂﬁimﬁrﬁhaﬁﬁaﬁafﬂgmsﬂqvaa%mam@?ﬁ- ‘ﬁm&ﬂﬁﬁﬂuﬁmﬁimﬁ&mﬁm@ﬁﬁﬂm&mm
T WWW.FIrStrRanker.com
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[Option ID = 14159]
3. Ethics / sfifer omq

[Option ID = 14160]
4. Aesthetics / it

[Option ID = 14161]

Correct Answer :-
e Epistemology / stomefiaizn
[Option ID = 14158]
50) Imagine yourself as Henry Giroux and examine the two statements given below from his perspective on teachers as
transformatory intellectuals:

Statement I: Unlike many past educational reforms movements, the present call for educational change presents both a
threat and a challenge to public school teachers that appear unprecedented.

Statement II: The threat comes in the form of a series of educational reforms that display little confidence in the ability of
public school teachers to provide intellectual and moral leadership for our youth.

o138l Sfive & U 3 e B Beuet B3 i PIgIp! B ulradaerl gigshfrl & wu 3 336 D oD ulgga & IR fowafeRaa weel o1
usigror Hifsre

@l |: el ¢ 9w R siicicioll @ faudlda, g uf¥ader o fere soddl adare srart Ardsiiorm Faye @ 91g1ml @ forg smyyayud e sl
goildl Sloll g oxdl 3

@ |l: 16 Tart e JRI S v 9jaen @ wU I AR Al 3, Sl ArdsIford e @ V18l &I yarsil @l diftre aen sifere oigea yeret
B0 Dl Aeaar A agd bA frarT o 3

[Question ID = 3542]
1. Statement | is true but Statement Il is false / @ermwr | 311 2, cfdper wert | 3R 3

[Option ID = 14162]
2. Statement | is false but Statement Il is true / @erer | s1era 2, cifdbor @werat || T 3

[Option ID = 14163]

3. Both Statement | and Statement Il are true and Statement Il is correct explanation of Statement | / @erer | 3iiz @erel || Slall 3 & 3l werat || et | bt
A IR 3

[Option ID = 14164]
4. Both Statement | and Statement Il are true but Statement Il is not the correct explanation of Statement | / @erat | 3liz werer |l Glail e & Afdsor awerar 11
Dol | ol A8l FuscianWn ofal &

[Option ID = 14165]
Correct Answer :-

e Both Statement | and Statement Il are true and Statement Il is correct explanation of Statement | / @l | 3z @l || Sl 3T & 3k et || Dt | bt
I e 3

[Option ID = 14164]
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